Graph Sketching
Graph sketching is easy if you follow the correct steps. 
Example 1 

y = 2x – 3
Strategy:

· y = x

· y = 2x

· y = 2x – 3

First sketch y = x:


Then sketch y = 2x (squash by a factor of 2; that means half each x –coordinate – e. g. the point that had x-coord 1 now has x-coord 0.5):
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Finally sketch y = 2x – 3:
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Here’s the sequence of graphs on the same grid:
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y=2x
y=2x-3
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Ok, straight line graphs are easy to deal with. Now for a quadratic. 
Example 2
Y = - 4 (x + 3)² + 1

Strategy:

· y = x² 
· y = (x + 3)² 
· y = - (x + 3)²
· y = - 4 (x + 3)² 
· y = - 4 (x + 3)² + 1

First y = x²:
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Now shift the previous graph 3 units to the left to get y = (x + 3)²:
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Flip the previous graph upside down to get y = - (x + 3)²:
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Next scale the y-coords by 4 to get y = - 4 (x + 3)²:
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Move the previous graph 1 unit up the y-axis to finally get the graph of y = - 4 (x + 3)² + 1:
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Straight lines and quadratics are fairly easy, if you follow the steps. 
Here’s the sequence of graphs on the same grid:
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y=(x+3)?
y=—(x+3)
y=—4(x+3)?

y=1-4(x+3)?
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